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1 Solving Sequence

5,9?6?2,10?4?1?3T8?7H>CQ,06,010
A knot diagranﬂ > 9 4 ! 3 8 7

Ideals for irreducible component#ﬂ)f Xpar

I = (—u'® —u® + 5u® + 3u” — 9ub + u® + 8u? — 6u® — 3u? + b+ u,
w4+ —4u® —3u” +4u® —w® —ut 4P P +a+3u+1,
utt 4+ 20t — 4u® — 8u® + 6u” + Tu® — 10u° + ut + 110 4 1)
Iy =(b+1, a, v’ —u—1)

* 2 irreducible components of dim¢ = 0, with total 13 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I =(—u"®—u+-.-+b+u, u'®4+u’+---+a+1, v +2u'%+. - +11u3+1)

(i) Arc colorings

o ()

ag =

—ul® — o 4w+ 3" — A P+ ut — 4w — w2 —3u—1
w'® + 4 —5ud — 3u” + 9ub — ud — 8ut +6ud +3u —u

wl® + 4% — 4u® — 3u” + 5ub — uwb — dut + 6ud + 3u? — 2u>

ud — 2u
ag = \ ' + o — 448 — 307 + 5ub — ud — 4ut + 5ud + 3u?

as = w0 4+ — 4u® — 3u” + 5ub — u® — 4ut + 5ud + 3u?
ut —3u?+1
ag = ut — 2u?
—u? +1
ar = \ gyt — 22
(ii) Obstruction class = —1

(iii) Cusp Shapes = u® — u® — 6u” + 7Tub + 11u® — 17u* + 2u3 + 16u? — 15u + 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 utt = 3w+ —Tu 1
Co,C8 =t 4y 44
€3 utt +15ur0 -+ Blu 41
C5,C6, Co = 2010 — 40 1 8uB 4 6u” — Tub — 1005 — ut + 11ud® — 1
C10
¢ u + 120 4 20 + 320" + 17u® — 28u° + 27wt — 15u® + 2u® — 2u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,4 gt =15y .k 5ly — 1
2, C8 1590 + ... + 88y — 16
€3 yt =35y ... 41959y — 1
C5,Cg, C9 yll 712y10+72y271
C10
C7 y11+24y10+.+2y2_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.555784 + 0.8260801
1.70442 + 0.912271
1.75765 — 0.089811

—11.41260 4 2.726181

1.17921 — 2.484571

u = 0.555784 — 0.8260801

a 1.70442 — 0.912271 —11.41260 — 2.726181 1.17921 + 2.484571
b= 1.75765+ 0.089811

uw= 130287

a = —0.964097 1.42853 5.86840

b = —1.44606

u = —1.395180 4 0.1267271
a = —0.158907 + 0.9226951
b= —0.665578 — 0.8154521

3.45898 — 2.753861

6.03924 + 3.055221

u = —1.395180 — 0.1267271
a = —0.158907 — 0.9226951
b= —0.665578 + 0.8154521

3.45898 + 2.753861

6.03924 — 3.055221

u = —0.509387
a= 0.753099
b= 0.150577

0.764590

13.1750

u = 0.205266 4 0.3911521
a = —1.19521 — 1.333821
b= —0.887105 + 0.3267491

—1.67531 + 0.871311

—1.62556 — 2.859811

u = 0.205266 — 0.3911521
a = —1.19521 + 1.333821
b= —0.887105 — 0.3267491

—1.67531 — 0.871311

—1.62556 + 2.859811

u= 158287
a= 0.388562
b= 0.514377

8.06663

13.5530

u = —1.55405 + 0.303961
a= 0.560911 — 1.0171501
b= 1.68559 + 0.264321

—4.54812 — 6.904261

4.10911 + 3.248081




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

U
a
b

= —1.55405 — 0.303961

0.560911 + 1.0171501
1.68559 — 0.264321

—4.54812 + 6.904261

4.10911 — 3.248081




II. I =(b+1, a, u> —u—1)

(i) Arc colorings

o= (o)

ag =

ag =

az =

ag =
—u
a7 = u
(ii) Obstruction class =1

(iii) Cusp Shapes =3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 (u—1)2
Co, Cg u2
Cy 1 2
(u+1)
2
Cs, Cg u—u—1
2
C7,C9, C10 u+u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C3,C4 (y_l)
C2,C8 y2
Cs5,Ce6,C7 y2—3y+1
Cy, C10




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = —0.618034
a= 0 —0.657974 3.00000
b = —1.00000
u= 1.61803
a= 0 7.23771 3.00000
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u—1D)*)(ut =3u® 4 —Tu+1)
C2,C8 w?(utt — w0 4 — du + 4)
C3 ((u—1)?)(u' + 15u!® + - +51u + 1)
C4 (u+ 1)) (u't =3 + - = Tu+1)
s, Cg (u? —u—1)(urt =20+ 1163 — 1)
cr (u* +u—1)
(et 120 + 2u® + 3207 + 17u® — 28u° 4 27ut — 15u® + 2u? — 2u + 1)
€9, C10 (u? +u—D(u't =20 - F110% - 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢4 ((y =D =15y + - +51y — 1)
Ca, C8 y?(y" + 15y - + 88y — 16)
“ ((y = D*) (" = 359" + - + 1959y — 1)
Cs, C6, C9 (y2—3y+1)(y11—12y10+-~-—2y2—1)
C10
er (v* =3y + 1)(y'" +24y' + - +24° - 1)
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